BIEEZILE/R—

THSEE  — MRS

MERRE| Ak B S IR mikg | TOR L
dbiEE AR mdE X EEZALIRED — iR IRIE 12 0.0080 (< 0.0026 ) 0.033
dbiEE FLIRT L X (E3E5] —RIRIE 12 0.0043 (< 00015 ) 0.017
s  |fRtmmEX EREE2— —RIREE 12 0.0052 (< 00013 ) 0.021
dbimE BB i/ NERGRIE R — RIS 12| ( 0.004 )| ( < 0.004 ) ( 0.018
diEE  |EKEET EENMNERAER —RIRIE 12] ( 0.004 )| € < 0.004 ) 0.021
dbimE | ST ES@NE]S] — R IRIE 12| ( 0.005 )| ( < 0010 ) (< 0010
EE |F&Em HOHRIER —RIRIE 12] ( 0.006 )| € < 0010 ) ( 0.019
EHRE |[BE&T BINERD —RIRIE 12 0.0071 (< 0.0010 ) 0.018
EHRE  [shAlT EARTEE — iR E —RIRIE 12| ( 0.0024 )1 < 0.0007 ) (_< _0.008
xR |[/\Fm I\FINER B — R IRIE 12|( 0.0059 )] (< 0.0026 ) 0.023
EFE |[EEH EERB —RIRIE 12| ( 0.003 )| (< 0.004 ) (___0.006
BEFE | KhiEh BB —HRIRIE 12 0.0047 (< 0.0010 ) 0.025
=2F8 v t EHFEE —IRIRIE 12 0.0049 (< 0.0010 ) 0.015
ZEF8 |[ZFmh ER —RIREE 12|( 0.0015 )1 < 0.0010 ) ( 0.006
EHE  WETERFX|DER —RIRIE 12| ( 0.009 )| ( < 0010 ) ( 0.022
EHRE |WETERFX|HEE —RIRIE 12 0.010 ( < 0010 ) ( 0.022
=TRE |EER EE-—REBEEAKIER —HRIRIE 12 0.0069 (< 0.0020 ) 0.019
EHE |SEHEBRTEE|KARESRTE —RIRIE 12 0.0060 (< 0.0020 ) 0.016
ERE | =HIFEAE |EREER — R IRIE 12 0.012 (< 0.0026 ) 0.063
MEE BREET )l —RIRIE 12| ( 0.0057 )] < 0.0014 ) ( 0.017
A Wz L R PR S —HRIRIE 12] ( 0.002 )| ( < 0.004 ) (< _0.006
IRz 2 EET EHEERES —RIRIE 12| ( 0.014 )| C < 0.004 ) (< 004
BEE |mEFEHENT SEERD — iR IRIE 12|( 0.0024 )] (< 0.0007 ) (< _0.009
BE5E & ] S| —HRIRts 12] ( 0.004 )| ¢ < 0.003 ) ( 0.013
BEE  [ElH FER —RIREE 12] ( 0.005 )| C < 0.003 ) 0.031
BERE  |LWwbhEm B1E —RIRIE 12|( 0.0049 )] (< 0.0007 ) ( 0.020
SR B =ERNG] —RIREE 12 0.0074 (< 0.0008 ) 0.064
ZBHE  [KEH KERIIE — R IRIE 12| ( 0.009 )| ( < 0007 ) ( 0.019
xR Hirmh Bim&E —RIRIE 12 0.027 (< 0.0003 ) 0.11
ZEE  |LiETm THEREME —HRIRIE 12 0.011 (< 0.0003 ) 0.035
ZWE  |EIST RIS 3 (FBIE ) —RIRIE 12 0.057 (< 0.0003 ) 0.33
ZEE  |ZRAT AR —HRIRIE 12 0.022 (< 0.0003 ) 0.098
ZRWE | HifET HIETEAR — RIS 12 0.042 (< 0.0003 ) 0.18
WARE [FH#H=ED FE/NVERR —HRIRIE 12 0.026 ( 0.0055 ) 0.048
HmARE EFT ERHEHAREE —IRIRIE 9 0.023 (< 0.006 ) 0.088
WmARE AT EEBEE 27KIE — iR IRIE 8 0.011 ( 0.0038 ) 0.040
HmAE |[KHARSH WMARETRETE —RIRIE 9(( 0.0063 )] ( 0.004 ) ( 0.016
HARE [THm AEER —RIRIE 9(( 0.0089 )] ( 0.004 ) 0.030
HEE |FiETh AIER S —HRIRIE 12| ( 0.009 )| ( < 0018 ) ( < 0018
HEER |[EBH TEAREE —RIRIE 12] ( 0.009 )| € < 0018 ) ( < 0018
HERE |[E&H HERELS— —HRIRIE 12] ( 0.009 )| ( < 0018 ) ( < 0018
HER AHM AH—EE —RIREE 12 0.018 (< 0.0024 ) 0.048
BEE %W FEIE1—HEH —HRIRIE 12 0.011 (< 0.0024 ) 0.036
HEE |Tdm RhE4—BE —iRIRE 12 0.013 (< 0.0024 ) 0.039
BEE  |SWV-FEHAER EBRAER — R IRIE 12 0.019 (< _0.006 ) 0.056
BEE SWEFERAER | AEXERH —IRIRIE 12 0.025 (< 0.006 ) 0.12
BEE | SOEFHhAR |BEREEME L I— — AR IRIE 12 0.018 ( < 0.006 ) 0.038
BER SOV FdEHRE SNV -EFmEAER —RRIREE 12 0.022 (_ < 0.006 ) 0.070
BEE [SOFhaR | EHRAIER —RIREE 12 0.067 (_< _0.006 ) 0.46
HmEE  |)I#ETS JI#ET ) #GRIE B —RRIRIE 12 0.0083 (< 0.0007 ) 0.055
BEE  |)I#EH JN#H SR ES —RIRIE 12 0.0083 (< 0.0007 ) 0.055
BEE BT ERE —HRIRIE 12 0.036 ( < 0.009 ) 0.16
BEE =k NOmZRER —RIREE 12 0.033 (< 0.0020 ) 0.14
BER  Odm NoOhmEFEAER — AR IRIE 12 0.083 ( < 00020 ) 0.66
BER AR T LEFBIE S —RIREE 12 0.0082 (< 0.0007 ) 0.039
BER AT BREMFERCH — AR IRIE 12 0.056 ( 0.009 ) 0.30
BERE  [E#UT EXNITNG) —RIRIE 12| ( 0.026 )| ( < 0.009 ) 0.091
BER  |[HR#H EBHEH&F — iR IRIE 12 0.042 (< _0.009 ) 0.23
BEE AT HHAH —RIRIE 12 0.057 (< 0005 ) 0.45
FTEE |FTETHPRX |fRiEF —RIREE 12 0.053 (_< 0.0008 ) 0.18
FEE FEHDRR |TJINFER —IRIRE 12 0.023 (< 0.0008 ) 0.078
FEE |FEHRRX FEHKER —RIRIE 12 0.040 (< 0.0012 ) 0.19
TEE |FTEHXEERXR |ERAE —HRIRIE 12 0.020 (< 0.0008 ) 0.054
TEE |8kF™ FhmmRE2— —RIRIE 12 0.043 ( < 0016 ) 0.19
FEE |Hhlm KIMBA KN E — R IRIE 12 0.046 ( 0.014 ) 0.13
TEE |ME™ MmEEEER —RIRIE 12 0.035 ( 0.007 ) 0.087
FEE BT EEILETEE —HRIRIE 12 0.027 (< 0017 ) 0.077
TEE |WFm WEREXD —RIRIE 12 0.038 ( 0.006 ) 0.16
TEE |BHEM BHEMBEEE — iR IRIE 12 0.034 (< 0018 ) 0.10
FEE TR BABE —RIRIE 12 0.10 (< 0.0008 ) 0.46
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MERRE| Ak B S IR mikg | TOR L
FEE |HEM I\ B BIE B — iR IRIE 12 0.056 (< 0.0008 )~ 0.30
FTEE |BIH BEBKERDYRE —RRIRIE 12 0.023 (< 0018 ) ~ 0.066
FTEE |BEH EREARB —RIREE 12 0.048 ( < 0017 ) ~ 0.26
FTEE w4 Eh W ERRR —RIRIE 12 0.062 (< 0018 ) ~ 0.15
FTER =il BHERER —RIRIE 12| ( 0.017 )| C < 0017 ) ~ ( 0.055 )
TEE | FIEPEEE |EERVILANA—AMEE— — R IRIE 12 0.035 ( < 0018 ) ~ 0.094
RIRER PRX P RXERES —RIRIE 12 0.029 (< 0.020 ) ~ 0.093
RE# | FEX EERRIER —RIRIE 12 0.027 ( < 0.020 ) ~ 0.12
RIRER BEX BEXBXARB —RIRIE 12 0.026 (< 0.020 ) ~ 0.15
RE# | KHARX AHRXPHMIEDHEL 27— —HRIRIE 12 0.064 ( < 0.020 ) ~ 0.53
REE |RIEX RIBX K ETH —RIRIE 12 0.022 (< 0.020 ) ~ 0.096
BE#  |#BEX BEXEHARD —HRIRIE 12 0.022 (< 0.020 ) ~ 0.11
RE#S  |RUX BIARXBEHHE — RIS 12 0.031 (< 0.020 ) ~ 0.12
RE# IR IRNREIRE —RIREE 12 0.061 (< 0.020 ) ~ 0.30
BE&  |/\EFmH AEFEF — RIS 12| ( 0.004 )| ( < 0.004 ) ~ ( 0.010 )
RE#S  |/\EFH FERE —RIRIE 12] ( 0.005 )| € < 0.004 ) ~ ( 0.013 )
RE#  |/hEHT INEHTHREF — R IRIE 12| ( 0.018 )| ( < 0.020 ) ~ ( 0.048 )
E L L PN BARIMHMERER —RIRIE 12| ( 0.018 )| € < 0020 ) ~ 0.055
RE# |AZEREEN|GZERERE — R IRIE 12| ( 0.010 )| ( < 0.020 ) ~ (< _0.020 )
AR IEHIBX  |EE)IGE —RIRIE 12 0.063 ( 0.007 ) ~ 0.29
#AXRINE BT hEX |FEAER —HRIRIE 12 0.020 ( < 0.006 ) ~ 0.093
#MENE NBHZEX |ZEIAER —fBIRIE 12 0.015 (< 0.006 ) ~ 0.042
AE)E (EEEThEX |HEIER — iR IRIE 12|( 0.0035 )] < 0.0011 )~ 0.031
RIS (BT BERTRE S— —RIRIE 12| ( 0.020 )| ( 0.006 ) ~ 0.060
MmE)IE [(#EEEN EAEHER —RIREE 12 0.039 (< 0.005 ) ~ 0.15
#ME)IE |FigH BINER D —RIRIE 12 0.0055 (< _0.0011 )~ 0.021
E)IE |BR™ BRTEE —RIREE 12] ( 0.014 )| C < 0.005 ) ~ 0.055
#ERINE |ERE fE T R /NVERF —RIRIE 2| ( 0.006 )| ( < 0011 ) ~ (< 0013 )
#MmENE [/hAEES MNHIET&RE —RIRIE 12| ( 0.0035 )] (< 0.0008 )~ 0.018
#RINE |EHT EHHEME —HRIRIE 12| ( 0.0031 )] (< 0.0007 )~ ( 0.013 )
#EE |[EXH EXHERE —RIRIE 12| ( 0.0022 )] < 0.0007 )  ~ (< 0.007 )
e FriamEX KB —HRIRIE 12| ( 0.005 )| < 0.004 ) ~ 0.022
FRE  |[FEHIAX WER — RIS 12| ( 0.006 )| C < 0.004 ) ~ 0.034
FRE  |#EW e (FEHHETE) — iR IRIE 12| (002 ) | (. < 003 ) ~ (< 003 )
HRE  |wem N 51 — RIS 12 ( 0.02 ) | < 003 ) ~ ( < 003 )
FiaE | E#h BREH — iR IRIE 12| ( 0.02 ) | € < 003 ) ~ ( 0.03 )
FRE |BAT PEB —RIRIE 12 ( 0.02 ) | ( < 003 ) ~ (< 003 )
EWE  |=lm ELZEE —RIRIE 12] ( 0.004 )| € < 0.004 ) ~ ( 0.011 )
EIWE  |gikH I RBEIWE —HRIRIE 12| ( 0.02 ) | ( < 003 ) ~ (< 003 )
AR tEm tEER —RIREE 6] ( 0.010 )| C < 0012 ) ~ ( < 003 )
BIE /b INNBIRE B —HRIRIE 6] ( 0.010 )| ( < 0012 ) ~ (< 003 )
BHE |EHM BHE —RIRIE 12 0.030 (< 0.004 ) ~ 0.14
BHE |BHEM MAEHD —HRIRIE 12 0.021 ( < 0.009 ) ~ 0.056
EHE |fFIHm #AE —iRIRE 12 0.060 (< 0.009 ) ~ 0.15
BHE RHAH =EB — R IRIE 12 0.039 (< _0.009 ) ~ 0.18
WHE BT BB RF B B —IRIRIE 12| ( 0.0025 )] (< 0.0020 ) ~ (< 0007 )
WHE  |ELXFHET EHHBIER — AR IRIE 12] ( 0.008 )| € < 0.008 ) ~ (< _0.026 )
e XA XABER —RIRIE 12| ( 0.008 ) | (< 0.008 ) ~ (< 0026 )
WRIE | ZEETH R BIE B —RIREE 12] ( 0.007 )| € < 0.004 ) ~ (< 0.026 )
WHE  [F7ILFRT ([EF7ITRBER —RRIRIE 12| ( 0.008 )| ( < 0.006 ) ~ (< 0026 )
e B EUEN: 5] —RIREE 12| ( 0.008 )| C < 0.008 ) ~ (< 0026 )
EHE |EHT B/ A BRREATAER —HRIRIE 12 0.015 ( < 0.007 ) ~ 0.031
EHE E&HH EH—BRREASTIER —RIREE 12 0.015 (< 0.007 ) ~ 0.038
EHE |WAXmH WARE — AR IRIE 12 0.014 (< _0.007 ) ~ 0.027
EHE AT LAB —RIREE 12| ( 0.004 ) | (< 0.006 ) ~ ( 0.011 )
EHE |#|Ehm Riilo) —HRIRIE 12] ( 0.004 )| ( < 0.006 ) ~ ( 0.015 )
EHE FAh FAE —RIRIE 12| ( 0.004 ) | (< 0.006 ) ~ ( 0.011 )
FEE  |IFEH Iz B i L &R BRI TE S — iR IRIE 12 0.013 (< 0.0008 )~ 0.13
FEE |IFEH FRATER —fBIRIE 12 0.013 ( < 00008 ) ~ 0.13
IFBIE | KiEH KiEEBAHA & I EEE S BT —RIREE 12 0.060 (< 0.0008 )~ 0.69
BEE |BETEKX ERAER — RIS 11)( 0.0056 )] (< 0.0021 )~ 0.021
BEE |BEMHERX R/ NERAIE D —RIRIE 11]( 0.0046 )] (< 0.0021 )~ 0.012
BEE |BETEBAIX |RAESRERIES —HRIRIE 11)( 0.0046 )] (< 0.0021 )~ ( 0.014 )
gafE 2 FEEmEX BENEBER —RIREE 11/ ( 0.0045 )] (< 0.0021 ) ~ ( 0.015 )
BEE  |BETEKX |FKEKE—/NERAER — R IRIE 11 0.0077 (< 0.0024 )~ 0.023
Fa[E 2 ENTHRRRX  |EEBES —RIRIE 12| ( 0.0053 )] (< 0.0028 ) ~ 0.029
BRI 2 EHH EHHEME — R IRIE 12] ( 0.006 )| ( 0.004 ) ~ (< 0024 )
BEE |=E+m ERE/NERB —RIRIE 12| ( 0.010 )| ( < 0005 ) ~ ( 0.031 )
FBEE  |EET EHMEAE — iR IRIE 12] ( 0.011 )| C < 0.007 ) ~ 0.046
d L g BIHEmE —iRIRIE 12| ( 0.007 )| < 0.007 ) ~ (< 0022 )
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BEE  [RHM RANERIB — iR IRIE 12] ( 0.007 (< _0.004 ) ( 0.023
EBHE L2EETHIIIX|EAXE —RIRIE 12 0.026 (< 0.009 ) 0.19
ZHE |AoETERX |EBEE —RIREE 12 0.15 (< _0.009 ) 1.2
ZHE |AoERETERX  |FI/DER — RIS 12 0.039 ( < 0.009 ) 0.22
ZHE L2EETMER |BKNERB —RIRIE 12 0.10 (< 0.009 ) 0.83
ZHE 2Eh N 51 —IRIRE 12| ( 0.005 ( < 0.005 ) (< 0019
BHE |Z28h =y |[)5] —RIRIE 12] ( 0.006 (_< _0.005 ) (< 0022
ZHE fiE] U5 T i i T AR L K KGRI B —RIRIE 12 0.021 (< 0.0008 ) 0.22
EBHE |—Emh —EmREBEASAER — RIS 12 0.035 (< 0.0007 ) 0.19
ZHE |¥HET FHMEFEED —HRIRIE 12 0.068 (< 0.0023 ) 0.79
ZHE S2HEM &8 B (= ETHED) —RIRIE 12| ( 0.005 (< 0.003 ) 0.015
BHE /M INEERE —HRIRIE 12 0.085 (< 0.0008 ) 0.96
ZHE HiEm HahmATEE —RIRIE 12 0.071 (< 0.0008 ) 0.70
=E8 |mMAWH LESRIER —RIREE 12 0.39 (< 0.0022 ) 1.9
=58 MmAEMmH MBHmEESRAES —RIRIE 12 0.15 (< 0.0023 ) 0.88
= NV R E B/INVERR —RIRIE 12 0.091 (< 0.005 ) 0.62
=58 |E£TH =—ERRATE — R IRIE 12 0.060 (< _0.005 ) 0.56
=58 |B#EW FEZRrEPER —RIRIE 12 0.019 (< 0.005 ) 0.10
HBEE | KEH BEEREREE 2— — R IRIE 12 0.016 ( 0.0016 ) 0.092
#FEE |ERM ERIZXESK —RIRIE 12 0.015 (< 0007 ) 0.038
HEE |REM FER —HRIRIE 12 0.052 ( < 0.007 ) 0.40
HBEER HEH 5EB —RIRIE 12 0.015 (< 0007 ) 0.036
#ZEE |[E5h EE5ERTE — iR IRIE 12 0.034 (< _0.007 ) 0.20
HEE |[FAITH BETR —RIRIE 12 0.025 (< 0.007 ) 0.089
RHE | ESTERRX |AEFEB —RIREE 12|( 0.0016 (< 0.0005 ) 0.0088
EEAE  |ER#EHEX EHFELEILEHEM —RIRIE 12|( 0.0029 (< 0.0005 ) 0.023
REBAT | AHERAGILET | AL —RIREE 12 0.018 (< _0.004 ) 0.12
AR | KEHFEHFRX |EERERB — R IRIE 12 0.020 ( < 0014 ) 0.082
KBRAF KRR Bi/NERE —RIRIE 12 0.020 ( < 0014 ) 0.078
ABrAF B hERX HIER —HRIRIE 12 0.015 (< 0.0014 ) 0.063
KBRAF - Laakitl FaakiiE) AN S —RIREE 12 0.024 (< 0.009 ) 0.11
ABRAF  |RKET RKETRBE —HRIRIE 12 0.012 ( < 0.003 ) 0.047
KBRAE =T EFB —IRIRIE 12 0.016 ( 0.0015 ) 0.098
ABRAF  |#A™ BATEFE —HRIRIE 12 0.023 (< 0.007 ) 0.093
KBRAE J\ETh INETRERE —IRIRIE 12 0.021 (< 0007 ) 0.079
ABrrF  |REFTH EBFHREERB — iR IRIE 12 0.011 ( < 0003 ) 0.051
ABRAF _ |EHEME ERMTRAB —RIRIE 12 0.018 (< 0.003 ) 0.11
ABREF  |[EE)ITH BEENTHEME —RIRIE 12 0.023 ( < 0.007 ) 0.083
ABRAF  |BEHFT BAFHEME —RRIRIE 12 0.015 ( < 0.003 ) 0.065
ABRAF  [RABRT BREE 42— —RIRIE 12 0.073 (< 0.004 ) 0.22
EEE (WFTREX |RABEISHEINES —HRIRIE 12 0.018 (< 0.0003 ) 0.087
EEE |#FTRHEX |REXKJAES —RIRIE 12 0.013 (< 000018 ) 0.068
EEERE |#FHTERX HEXKBER —HRIRIE 12 0.015 (< 0.0003 ) 0.087
EEE |#FTEERX |EEEHAKIES —iRIRE 12 0.016 (< 000018 ) 0.086
EERE [#HEFHTPRX |BEEAKAES —HRIRIE 12 0.012 ( < 0.00018 ) 0.075
EEE HEHAEX ARASETER —IRIRIE 12 0.014 ( < 000018 ) 0.098
EEE  |ERT I\RBIE B — AR IRIE 12 0.034 (< 0.0020 ) 0.23
EEER [EIgT E/ HaRE —RIRIE 12 0.014 (< _0.004 ) 0.067
EER BRET AARE L 2— —RIREE 12 0.006 ( < 0.003 ) ( 0.016
EERE |AEETH BETEE —RRIRIE 12 0.018 ( < 0.007 ) 0.069
EEE Pl mEE —RIREE 12 0.076 (< 0.0020 ) 0.27
EERE |fEETS ficli ks i o) —HRIRIE 12 0.11 ( < 0.004 ) 0.38
EEE =M =Hm&EFME —RIREE 12 0.030 (< 0.004 ) 0.16
ZRE |RBEH F HREPFER — AR IRIE 4| ( 0.004 (< _0.009 ) (< 0.009
ZRE |RBWH BAEASELEAER —RIRIE 12 0.012 (< 0.009 ) 0.043
ZRE |[XEH XEF — AR IRIE 12 0.017 (_< 00013 ) 0.11
ZBE  [#H™ BHAB —fBIRIE 3 0.012 (00038 ) 0.023
MFUE | FaFlh AAER T —HRIRIE 12 0.017 (< _0.007 ) 0.053
LS (FFRlh A E 13- T 8- —RIRIE 12 0.014 (< 0007 ) 0.036
fFLE [BrEh B A /MER —RIREE 12] ( 0.016 (< 0.004 ) (< 007
MFLUE | FHET EFHTHELRER — RIS 12| ( 0.017 ( < 0.004 ) (< 007
EHRE |BEm ERETHEITDTE —RIRIE 12] ( 0.005 (< _0.004 ) 0.029
BEE |XKFmW EREXFIESEE — AR IR 12 0.019 ( 0.0013 ) 0.13
EBRE |B&m EREEEREMB —RIRIE 12 0.013 (< 0.0013 ) 0.059
EBRE |#TIH EFENITIH — R IRIE 12 0.005 (_< _0.005 ) ( 0.010
i L2 L dE X e /N —RIRIE 12| ( 0.005 (< _0.004 ) 0.024
i L2 ELT X B /INER —HRIRIE 12 0.012 (< _0.004 ) 0.057
EILE  |S%h EHENE —RIRIE 12 0.028 (< 0.007 ) 0.10
EWE  EFElh EZEERB — iR IRIE 12 0.016 (< 0.0025 ) 0.052
L2 EHFH BEXSAER —RIRIE 12 0.068 (_< 0003 ) 0.33




BIEEZILE/R—

THSEE  — MRS

MERRE| Ak B S IR mikg | TOR L
EWE  |ZET EEXKEIER — iR IRIE 12 0.022 (< 0.003 ) 0.054
LEE |LEETRERR|RERREMAIER —RIRIE 12 0.016 (< 0.009 ) 0.074
LER |Bm BRNERE —RIREE 12 0.011 ( < 0.003 ) 0.053
LEER B BENMNERE —IRIRE 12 0.012 ( < 0.003 ) 0.044
LEER  |fElm B/INERE —RIRIE 12 0.012 (< 0.004 ) 0.044
LEE  |Fdm REmEEE 2B — R IRIE 12|( 0.0051 )] < 0.0017 ) 0.018
LEE pNlit] KA RAREE —RIRIE 12 0.018 (< 0.0017 ) 0.14
LER |HELEEH RLEEBEE/NERE —RIRIE 12 0.014 (< 0.0017 ) 0.048
LR LR BR L[5 ST | L TE SRS —RIREE 11/ ( 0.0042 )] (< 0.0017 ) 0.013
WOge  [FEWm ABINER —HRIRIE 12 0.046 (< 0.004 ) 0.22
WOog  |FEH TR IR AR E IR —RIRIE 12 0.074 (< _0.004 ) 0.18
Wog  |FEh FEHLETE —HRIRIE 12 0.068 (< 0.0026 ) 0.27
WOg  |#Fh PREEIE 2B —RIRIE 2 0.28 0.20 0.36
wog |5E| FRERNERB —RIREE 12 0.025 (< _0.004 ) 0.098
mEE  |1Bfqh | lwlo) —RIRIE 12| ( 0.036 ) 0.0043 0.15
SR  |FEm ABB —RIRIE 12] ( 0.029 ) |« 0.0028 ) (< 007 )
mEE WHREBILEE |LER —HRIRIE 12| ( 0.028 )| ( < 0.004 ) 0.090
FIE |E¥mH ENTAARIZSA T4 48— —iRIRE 12 0.018 (< 0.004 ) 0.099
FINE |h&h AETEE — R IRIE 12 0.053 ( < 0026 ) 0.24
FINE ™ R & —RIRIE 12 0.062 ( < 0026 ) 0.18
FNE R HEER —HRIRIE 12 0.048 ( < 0026 ) 0.20
FINE [FNRESH |ESHEEH —RIRIE 12 0.046 (< 0.026 ) 0.10
ZRE  |Wlhm EARE — iR IRIE 6 0.017 (< _0.005 ) 0.031
BiRE FHET ERMER —RIRIE 12 0.019 (< 0.009 ) 0.071
BRE |FEETH BPFEE-REXELS— —RIREE 12 0.23 ( < 0.009 ) 0.90
BHE  |&Xm NTERB — RIS 6] ( 0.02 ) | < 004 ) (< 004 )
SHE  |SxH HER —RIREE 6| (002 Y[ (<004 ) (< 004 )
2HE  |'E Z=B — R IRIE 12|( 0.0026 )] (< 0.0009 ) 0.014
SEHE  |AKH BABSEFKE —RIRIE 12| ( 0.0027 )] (< 0.0009 ) 0.018
BEE | AMTEERR|ERE —HRIRIE 12] ( 0.014 )| ( < 0.008 ) 0.066
a2 FammhER | AMB —RIREE 12| ( 0.013 )| C < 0.008 ) 0.030
BEE  |damdnasR |BRER —HRIRIE 12] ( 0.014 )| ( < 0.008 ) ( 0.045 )
fEEE |[ERHmEX EHE — RIS 12 0.012 (< 0.0011 ) 0.037
BEE  |[ABXH WEREERE —HRIRIE 12 0.0071 (< 00012 ) 0.022
& 8 HJIH HIIE —IRIRIE 12 0.0087 (< 00012 ) 0.028
BEE  |REm ~EB —HRIRIE 12 0.0071 (< 00012 ) 0.024
EEE |[EEH EER —RIRIE 12|( 0.0076 )] < 0.0019 ) ( 0.017 )
EER FRHEH XiTEH —RIRE 12|( 0.0091 )] (< 0.0019 ) 0.032
RIBEE | RIGH N ERIER —HRIRIE 6 0.008 ( 0.006 ) ( 0.010 )
RIFE |HEM EHEARE —RIRIE 4| ( 0.005 )| € < 0010 ) ( < 0010 )
EBE |xEm (= 5% xt B BR 14 FRUBIRE Al —HRIRIE 12| ( 0.0070 )] ¢ 0.0023 ) 0.055
BEAE |E£H FRTEE —RIRIE 12]( 0.0025 )] (< 0.0007 ) (_< _0.008 )
AXHE | KHmh EFHhERBER —HRIRIE 12 0.0088 (< 0.0007 ) 0.047
Ao hiEh FERETER —iRIRE 12 0.013 ( 0.0024 ) 0.030
AR HHEM FRER R AR — R IRIE 12 0.0094 ( < 00020 ) 0.036
AHDE  |MER FEILHARE — RIS 12 0.015 ( 0.0038 ) 0.055
HFE  |EH EETh I RELE — AR IRIE 12|( 0.0028 )] (< 0.0008 ) (< _0.008 )
BREE |BRET ik 47il0) —RIRIE 6] ( 0.0020 )] (< 0.0007 ) (_< 0006 )
BERESE |[BEM BEER —RIRIE 4|( 0.0024 )] (< 0.0008 ) (< 0.008 )
EREE |ZEET 25 —RRIRIE 4|( 0.0022 )] (< 0.0008 ) (< 0.007 )
R |IE;™ BEHEE —RIRIE 6] ( 0010 )| ( < 0010 ) (< 004 )
HEBE  PiEmH HEER —HRIRIE 12| ( 0.010 )| ( < 0.004 ) (< 0.030 )
Parbis b 25Fh BAREMERD —RIREE 12| ( 0.010 )| < 0.004 ) (_< _0.030 )
HEER EEAEEEH | E %D F RS 14’ BRI XE Fr — AR IRIE 12| ( 0.0030 )] < 0.0024 ) (< _0.008 )

@ FEHEDORTAE: ETHEDN. FADKRKRHTRIERGETHoIHEIT. TDEEFMEETTRTRLTNS,
Q REHE (F/ME~RKKE DRTHE :
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